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1. The Day of Equality is observed in Tamil Nadu?

(A) April 13 (B) April 14
(C) March 13 (D) March 14
SLOIDHTL Q6D FoSSHI6 Hl6vTD eT6dTm)] SienIsHlSHSILGH DS ?
(A) eliTed 13 (B) erired 14
(C) oni& 13 (D) omi& 14

2. Where will the Slender Loris conservation centre be located in Tamil Nadu?

(A) Ayyalur (B) Manamadurai

(C) Vadamadurai (D) Vedasandur
SOIPHT IG6D BHEUMThIE LITGISMLIL 6MLOWID 6TThIE SieMLOWIEETETS] ?
(A) suwery (B) omevtmiogemir

(C) suLogienT (D) GeuLsmgmit

3.  The International Dugong Conservation Centre to be located at which place?

(A) Manora (B) Poompuhar
(C) Nagai (D) Thoothukudi
s16UCHE HLMHUS LITGISMLIL| 6MLOWILD 6TTRIE SHEMLOWIL|EToTE) ?
(A) wGeormm (B) wbysm

(C) Brems (D) an$g166\9

4. Bihu dance is the traditional dance of which state?

(A) Assam (B) Bihar
(C) Jharkhand (D) Odisha
Yam® mHL6OTD 6Thd Lonblevddleor umrouflul L eoTLOm@GLD ?
(A) sigmb (B) Samg

(C) gmisevorL (D) eiqerom

5.  Rights of Persons with Disabilities Act was enacted in which year?

(A) 2015 (B) 2016
(C) 2017 (D) 2018
wrHmiFmevtnefleaer 2 flemod LD 6Thg Sevoriqed @uiDmrilL & ?
(A) 2015 (B) 2016
(C) 2017 (D) 2018
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6.  With reference to online gambling, consider the following statements

1. Online gambling has been banned in India under Public Gambling Act, 1867.

2. Gambling is included in the concurrent list of the Seventh schedule of the
constitution.

3. Union Ministry of Electronics and Information Technology (MeitY) is the nodal
ministry for regulating online gaming in India.

Which of the above statements is/are correct?

(A) 1 only (B) 2 & 3 only

(C) 3 only (D)1,2and 3

S} ETEMEVEIT FHSTLL SHemSLI LD, LledTeu(hld Siml&ema:eemend eve6nflirhisei

1. eung @&aM L& s LD, 1867601 Sip ShHwineed Sy6oTemeV6dT @GS LLD
SHeOLASFLIWLILILL (B6T6g).

2. sipdlwed sLLSH 60T eTpneus) SiLeuemevoruiledr @GsSnLLD G&i&asLILL (BeTerng).

3. g 1Ol6dT6vTETD) LOPHMID SHEH616D ASMPELHILL SiemosssHd (MeitY) Sbdlwimesd
S} 60TemEVENT BLMIENS Q(LMRIGUBSSIEUSDSTET (PSHHIL SEWLOEFHLOMGSLD.

CBev 2_seiter snmmiserfled 61 &rfliimeors/ siflwimeoreneu?

(A) 1w BCW (B) 2 & 3 L BCw

(C) 3 LLGBGW (D)1,2 wpmi 3

7.  With reference to cow slaughter consider the following statements

1. Constitution of India does not have any provision relating to the protection of
cow against slaughter.

2. Cattle is a concurrent list subject.

Which of the above statements is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

L& euemGemWIL DM LN6TeUBLD SnDMISHEM6NE S6U6DfILhIS6T

1. @hslw sipdwevemolig FLLSS60 Lsemel LIBOSHTeme05HES eTHIITS LTSHISTLILS)
OFMLITLIME0T 6TThG eIMUMBLD E6L6m6V.

2. sneumHemL&6T G CrIsHHled LI lquied LIMLLD.

GuBev 2_eitem anHmiserfled er&) sifliimers/ siflwineoremey ?

(A) 1 wLLBEGW (B) 2 L. ®BGw

(C) 1 womidb 2 Srevor(BLd (D) 1 sievevsy 2 Bevemen
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8.  With reference to Large Hadron Collider (LHC), consider the following statements:
1. It was constructed by NASA in collaboration with the European Space Agency
(ESA).
2. LHC is located on the border of France and Switzerland.
3. It detected Higgs- Boson particle for the first time in the world.
Which of the above statements are correct?
(A) 1 & 2 only (B) 2 & 3 only
(©) 1 &3 only (D)1,2&3
Large Hadron Collider (LHC) umflw @nliyLedr, Lfedteu@@o Simlébenssenend
&euenflrblse6:
@5 xCrmiw elesoraeuerf] fimieuenrsgiLeor (ESA) @emevonhg) HETeUTed SLLLILILL ).
LHC digmedteiv ommid seXllgeonbdledr eredemevuied SiemLofhgleens.
85 2 dHCBW (&IOS il&Herv—EUITermeiT &|&6eme &60oTLMIHSHE)-
Gom&etorL &nhmiserfled o1 siflimeremey ?
(A)1& 2w GG (B) 2 & 3 o BGw
(C) 1 & 3 L BGw (D)1,2&3

9. The Mediterranean Sea is connected to the —
1. Atlantic Ocean via the Strait of Belle Isle
2. Black Sea via the Dardanelles Straits
3. Red Sea via the Suez Canal
Which of the above statements is/are correct?
(A) 1 & 2 only (B) 2 & 3 only
(C©) 1 &3 only (D)1,2and 3

LSHHWHDTSH HL6D QewevurdaLILL (BeTeng) —

1. ewebell F6 MevahHd euPILING DI 6OMETOTIE EILITHIRISLED

2. LNTL660T606V61 608 GULOIWLINS S(IHRISHL 6D

3. W6 Smeveunll eUPlLING Q\FThISL 6D

GBev 2_eiter snmmiserfled er&) sifliimers/ siflwimeoremeu?

(A) 1 & 2 wL@BGw (B) 2 & 3 . BGw
(O 1& 3w @BGw (D)1, 2 bHmud 3
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10. With reference to Consumer Price Index (CPI) and CPI (Combined), which of the
following statements is INCORRECT?
(A) It measures price changes from the perspective of a retail buyer.
(B) Itisreleased by the Labour Bureau in the Ministry of Labour and
Employment.
(©) InIndia, RBI takes CPI (combined) as the standard measure of retail inflation.
(D) Currently, the Base Year for CPI in India is 2012.

meiGeuni eflewevd SMUIG (Ffg) wHmId iy (REREmeTHEHene) SpEEUDEDDE

SO emsuled, HeTeumd Siléemasa6rled 618 HeUnmeoTs)?

(A) 8& Fevevemm eunhiGUeufledT LIMTemeuuiled eflemev LMHMMRIGeneT SiemellBEMG).

(B) @51 egmbleoments ommid GeuemeveumiliL Sien&ssSHled 2 _eer agmdleoney
ueoof W& SSmey GleuefluiL i’ gy.

(C) @bgdlwnelsd, RBI dlebevemm Lietorelisassdletr Hlemevwineor siemeims CPI
(RErilenetonhs) 6TBSSME.

(D) snGung), SbHwneiled CPlésmer siglilemL SpevorB 2012 Sp&Lb.

ANSWER KEY

1 2 3 4 5
B A A A B
6 7 8 9 10
D D B B B
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